EARAROBEEIERT — 2 N— IBISH —F

201748A5H (+) 1mM4LIE3A

12R

HBCE

1000AF #¥7R3mLE (

~EA~)

Z=)

(4¥18) EE

‘ [R1%] & ‘ [REBE] — |2 (&) 12000 B

[~®4] 1 7% 15,000,000 @ 2 7 :6,000,000 @ ~ 3 7 :3,800,000 1

4 7% 12,300,000 57 1,500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 1Lt — : - HE (%
1lgli5| @71 77U~ [B] f 5 | EHE 11083 22 |34.1]103.6| 3 (4_884) EENE ()
LY LTAN—F B:TTT—TITYU— 173535
T S 4 4 | C. bX—Jb 1:08.7 9-7 33.9| 99.5 | 1 480 | BAE (EH)
20111 D O A YR 55.0 (2 1/2) (-2) LFRE A
LN=vI54 B:TLYL b TA4T KBS
S it 3 | BEEKR 1:08.7 5-5 3411 9.3 | 8 448 | WIREFZ (FEH)
3(5/9 A1 YILAD ¥ 52.0 (INF) (-2) B
REATAT v — B:vYIFNa-F Eokdis
5 o 5 | FIRHER 1:08.8 3-3 34.4| 9.1 | 7 510 | HIIIEE (i)
41814 ¥ T RIVTZINR 57.0 1/2) ) | W #5TLyKI5T 5747
w125 B:24=—T5%v b RTH5
= 6 | POfCEX 1:08.8 15-15 [ 33.4| 98.8 | 4 408 | KMEEE— (i)
55877774 UR # 55.0 (7E) o | @ r59>
L:aR)IFNY) 77—/ B:ax/~w—HLy b TS99 T — L
R N . FILTR :08. - . . AFEH (Eid)
ST —a=FK R ik e I Rl e (4722) EESTe
R:RY T b AT —K—F B:v5ysa-—F BEXZY K
4 5 | BEEH 1:08.9 11-10 34.0| 97.3 | 5 442 | AZHERR ()
1 %A1 57.0 (5 (o |EHEX
RTYUETyR BiAX/TuRk— HEARTT—h
—a = — a4 s 3 | BEREX 1:08.9 14-13  [33.7| 97.5 | 2 420 |MFHRE (FEH)
FAF4Z—I Y 52.0 () (-14) A(m ST —%5TLy KR
Rixq4ya9R—F5— BXMHATRT1=— BEX &Y K
N N REF :09. — . . BEHEP (EH)
A—51LT7E> [B] 4 6 N 1(*709&‘? 12-9 34.0| 96.2 | 14 (422) it
L:A—JIh7r B:IXTEY Rarikie]
- o = IRFEE :09. = . . srxm= (ER)
Ny TS AT I H 6 s 1(70?:? 12-13 | 34.0( 96.2 | 10 (4_7‘;4) E(g) Sann
RGATAS v— BAHYIHIT =latie
o NG R : - EBR (EH)
Y )X —hE— it 5 o ()(\Js;.g) 1-1 34.8| 96.0 | 11 :::3) 2o
LT RIAYAV—> BiFI¥LUad thith 3K
. N A e : - MEER (E#)
Ke 76 4 3 S (17.93% 6-5 34.3| 96.0 | 13 ;1:342) g
R:vavFhr7 BRFxTLECH RN
o aIEF 1:09.1 — 4. 4. 1 4 RTES (EH)
LF~RPZ # 5 = (7096) 9-8 34.3] 949 | 15 (_?g) n(ﬁ) zEm
R:TH—T1F4F—X¥%> BTV wIAED— INTy—L
R o4 | HARER— 1:09.5 6-11 34.8190.6 | 12 | 516 |=TFRHM (RR)
Ly Fh—~y b 57.0 @ 1/2) (-14) | () RFxrERL
R/ v Te BIENINY— =Y Ty—LA
s A 44 | EERMER 1:10.6 6-11 35.9| 80.2 | 9 500 | AREEL (E#)
151712 E—-E-HL>4— 57.0 (7) (+2) (B) REKS
x40 BE-E-N—-=27 T vie]
@ 21 L
E»y) 45.2-34 .1
NA>ZA L | 12.2-10.9-11.1-11.3-11.1-11.7
® 1—F—@EBIERL
13—7F-
Pal=5F=
Ja=77= (x6,15)14,5,9(7,11,12) (1,10)4(2,3)13,8
43—+ — (x6,15)14,5(9,11)1,10,2,4(7,12) (3,13)8
[ N5
B 15 710 714K 1-15 550 e E 1-8 850 JEE 1-9-15 5,640/
# B 15 250M 9-15 1,870H B = 1-15 1,150 3EE 15-1-9 32,350/
1 1609 1-9 1,090 B H 15-1 3,000
9 410M

ABICOVWTRDTEEERROODE. TR LIV,




